2 Volume of Spheres Suppose a sphere
with radius r contains infinitely many
pyramids with vertices at the center of the
sphere. Each pyramid has height r and base
area B. The sum of the volumes of all the
pyramids equals the volume of the sphere.

V= %Blrl + %Bzrz + ...+ %B,,r,, Sum of volumes of pyramids

= %—_r(Bl +By+ ...+ B,) Distributive Property

= %—r(ll‘zrrz) The sum of the pyramid base areas equals the surface
‘ area of the sphere.

= %’7"73 Simplify,

i Words The votume V of a sphere is - Modei
= %wr:*, where ris the
radius of the sphere.
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- Find the volume of each sphere
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